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QID: 101 -

In the following question, select the number which
can be placed at the sign of question mark (?7) from
the given alternatives.

Teafafa vy # @y ow Rgeut & @ uy R
(?) & TUF W A ael FEA B AT

Options:
1) 6

2)9
3)8

47
Correct Answer: 9
Candidate Answer: 9

QID: 102 -

5|2 | 4| 3

5

o]
B
(6)]

8 |7 |6 |7

How many triangles are there in the given figure?

& o st 3 Rt Fage 2

Options:
1)5

2)6
3)7

4)8
Correct Answer: 7
Candidate Answer: 7

/|
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A word is represented by only one set of numbers as given in any one of
the alternatives. The sets of numbers given in the alternatives are
represented by two classes of alphabets as shown in the given two
matrices. The columns and rows of Matrix-l are numbered from 0 to 4 and
that of Matrix-ll are numbered from 5 to 9. A letter from these matrices can
be represented first by its row and next by its column, for example, ‘F’ can
be represented by 31, 67, etc., and ‘L’ can be represented by 33, 75, etc.
Similarly, you have to identify the set for the word “ENACT”.

T QMG Had UH G- SR GRIMAT AT &, otar 7 faweur i @
e v & Gar {1 fawedt A B v T Rt & ar gt
SRT gRiT 91T §, St @ Bu v @) neggl # § Wegel & weH AR
Ufth & FEAT 0 & 4 ¥ IR NN H 5 | 9] 39 YR A TH AR
P UTel 3D Ulh AR 9 #A TAEH T GRT GAT S Gl §l
Sareor & T P @ 31, 67, 3T RT GRIFT S WhaT § T ‘L & 33,
75, 3G GRT GRFT ST ol ol 30 die & U oA & U weg
“ENACT’ & o Hofg &1 ugaraar &l

Matrix-I Matrix-ll

3E-1 -l
0(1(2]|3]4 5|(6|7|8(9
O|F|[E|J|T|N S5|U[E|S|V|X
11Y(M|B|C[A 6|O|K|F|C|Z
2|1Z|(G|W|I[Q 71L[(Q|Z[Y|D
3|ID[F|A|L|R 8|A|E|I]|S|N
4 (Ul |Y|IVIX 9|IL(M|T|C| I

Options:
1) 01,04, 14,13,97

2) 56, 32,02, 03, 44
3) 97, 89, 86, 95,98

4) 01, 89,03, 68,23
Correct Answer: 01, 04, 14, 13,97
Candidate Answer: 01, 04, 14,13, 97

QID: 104 -

From the given answer figures, select the one in
which the question figure is hidden/embedded.

& % I gl F ¥ 3W W g & JAT
orw & uy apla Bfea &
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Options:
1

2)

/\
N

3)

4

&

Correct Answer:

Oz

N

Candidate Answer:

O

QID: 105 -
Which answer figure will complete the pattern in the
question figure?

Fig A 3R FPA U Hela & ufawT & g
HLafr?

A
\4] ?
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Options:
1

Correct Answer:

Candidate Answer:
Al \ /
QID: 106 -

If a mirror is placed on the line AB, then which of the

answer figures is the right image of the given
figure?

afg e duT # AB I@T OT @M ST, ar & T
IO HGpfaar A A Hid W FFfa un ea A
g ufafesa gefr?
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Options:
1

2)

3)

4

Correct Answer:

Zs 1

$<-—

Candidate Answer:

$<—

QID: 107 -

A piece of paper is folded and punched as shown
below in the question figures. From the given
answer figures, indicate how it will appear when
opened?

@ & Uy Wpladl A Em IGER O @
Az Ded YT Wield & aig a8 hd 3T/ AP
s e game

||
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Options:
1

N
-

w
~

ooo ooo ooo
ooo ooo ooo

o
=

oo
oo

(O @)

Correct Answer:

O O
oo

(O®

Candidate Answer:

O O
oo
OO

QID : 108 - By interchanging given two signs and two numbers which equation will be correct?
+andx,10and 5
g 7y 5t forgY e &t Sihl ot ST H TRER Sea TR I T THIAROT Fat gt SIrgen?

+dUTx, 10 9T 5

Options:

1)10x5+3+1=7/2
2)5+4x10+1=29/2
3)10x5+4+1=3
4)5-4+10x1=-6

Correct Answer: 10x5+4+1=3
Candidate Answer: 10 x5+4+1=3

QID:109-1f11TH14H3=28and 9H 4 H 17 = 30, then
5H6H19="?
IRR1TH14H3=28daT9H4H17 =308, dt

S5H6H19="?
Options:

Correct Answer: 30
Candidate Answer: 30
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QID : 110 - Arrange the given words in the sequence in which they occur in the dictionary.

1. Inking
2. Innings
3. India
4. Indica
5. Inglot

AT el areaentar # ST aTet 3 & SR ford |

1. Inking
2. Innings
3. India
4. Indica
5. Inglot

Options:
1) 34512

2) 34521
3) 43512

4) 43521
Correct Answer: 34512
Candidate Answer: 34512

QID : 111 - In the following question, select the missing number from the given series.
2,5,9,14,?,27
fafafea vy 7 Ry 7 el & @ g ofe 31 hifsgl

2,5,9,14,?,27
Options:

1) 22

2) 20

3) 21

4)19
Correct Answer: 20
Candidate Answer: 20

QID : 112 - A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.
A, CD, FGH, JKLM, ?
Teh argeRn R a8, e @ uah ue o 21 Ry u Riredt 7 @ a8 Tgt Riehed g, St arged @ o1 |

A, CD, FGH, JKLM, ?
Options:

1) NOPQR

2) OPQRS

3) OPQR

4)PQ
Correct Answer: OPQRS
Candidate Answer: OPQRS

QID : 113 - In the following question, select the odd word from the given alternatives.

frafafEa v & Ry 7y e § § fwm s &t gfg)

Options:
1) Coffee
Eana)

2) Cup
Gl

3) Tea
I

4) Water
STef

Correct Answer: Cup
Cit)

Candidate Answer: Cup
o

Download More Papers From GovtJobsAlert.In



Download More Papers From GovtJobsAlert.In
QID : 114 - In the following question, select the odd number from the given alternatives.

FrafafEa v A Ry g et & @ s e @t gkl

Options:
1)1

2) 64
3) 216

4) 256
Correct Answer: 256
Candidate Answer: 256

QID : 115 - In the following question, select the odd letters from the given alternatives.

freafafea uy 8§ g g faeredt & € fawm sreri ot gig)
Options:
1) PRT

2) ACE

3) MNO

4) MOQ

Correct Answer: MNO

Candidate Answer: MNO

QID : 116 - Identify the diagram that best represents the relationship among the given classes.
Director, Actor, Book

I ARG Y St A1 Qg 7Q &t & ffe o Heie o1 el T e gl

s, sifv=an, g
Options:

1)

2

3

4

© & g @

Correct Answer:

o5
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Candidate Answer:

O
O

QID : 117 - In the following question, select the related word from the given alternatives.

Money : Bank : : Education : ?

fafafea vy § Ry 7y et & @ efda <reg ot gAgl
o : dep ; : fvrem: ?

Options:

1) Teacher

freren

2) School

e

3) Building

AR
4) Student
[ERIE]

Correct Answer: School

Candidate Answer: School

QID : 118 - In the following question, select the related number from the given alternatives.
18:289::15:?

FafafEa ue A Ry 71g foeredt 7 & wefea I & ghgl

18:289::15:?

Options:

1) 256

2) 225

3) 196

4) 144
Correct Answer: 196
Candidate Answer: 196

QID : 119 - In the following question, select the related letters from the given alternatives.
AM:NZ::BC:?

fafafea vy § Ry g faredt & @ Tefda sreri st gfgl

AM:NZ::BC:?

Options:

1Yz

2) Xz

3) XY

4) DO
Correct Answer: XY
Candidate Answer: XY

QID : 120 - In the following question, select the word which cannot be formed using the letters of the given word.
NOURISHMENT
FrafafEa sl 7 @ a8 e gAY S 3 g 1ea & SHERT o1 TINT ek g1 ST 1T FehdT|

NOURISHMENT
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Options:
1) TRIM

2) NOURISH
3) TRAUMA

4) SOUR
Correct Answer: TRAUMA
Candidate Answer: TRAUMA

QID : 121 - If the ratio of the present ages of P and Q is 3 : 4 and the sum of their ages 3 years ago was 36, then what is the ratio of their ages 3 years ago?

i P T Q <l IAT 1Y ol S1JUTd 3 : 4 & @1 3 a¥ G ST chl 31 T AT 36 T, Y 3 I G ITehl S T STTUTA T AT?
Options:

1)5:7

2)3:5

3)4:7

4)6:7
Correct Answer: 5:7
Candidate Answer: 5:7

QID : 122 - Present ages of Rand S are in the ratio 3 : 5 respectively. After 6 years this ratio becomes 2 : 3. What is the present age (in years) of R?

R T S &l g SR shHeT: 3 : 5 HUTd § €1 6 I U g SUTd 2 : 3 81 a1 g1 R &Y actar g (ast #) w2

Options:
1)18

2)24
3) 30

4) 36
Correct Answer: 18
Candidate Answer: 18

QID : 123 - In the following question below are given some statements followed by some conclusions. Taking the given statements to be true even if they seem to be
at variance from commonly known facts, read all the conclusions and then decide which of the given conclusion logically follows the given statements.

Statements:
I.Some X and Y.
Il ALY are Z.

Conclusions:
LAl Z are Y.
Il. Some Z are X.

9 Ry ¢ v H o w3k I 918 37 Bl R aeRa Fe sy g Mg &, greifcs 39 A A1 det & foraar ) gt &1 eff e o ofik iR RufRa & s Ry g ae
@ feend, R 7TQ el & SMYR W gRAGTT &1

<hY-:
L3S X Y&l
I.gedty, Z 8

fAreer:
A
.52 X8l
Options:
1) Only conclusion (1) follows.
et fAeeny (1) Tt &1
2) Only conclusion (11) follows.
Fhad Ry (1) 98t 81
3) Both conclusion follow.
' RG]

4) Neither conclusion (1) nor conclusion (Il) follows.

T at Frsene (1) 7 € Frsed (1) 9 21

Correct Answer: Only conclusion (Il) follows.

e ey (1) T8t 31

Candidate Answer: Only conclusion (11) follows.

e ey (1) T8t 31

QID : 124 - In a certain code language, "RUST" is written as "PSQR". How is "KENT" written in that code language?

U fafre Fie wrer &, "RUST" &t "PSQR" forar SITdT &1 39 i 9T & "KENT" &t fohe R forar smemm?
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1) ICLR
2) ICMS
3) IDMR

4) JCLS
Correct Answer: ICLR
Candidate Answer: ICLR

QID : 125 - In a certain code language, "BUZ" is written as "59" and "BIZ" is written as "47". How is "FOG" written in that code language?

U fAfI® s umar &, "BUZ" At "59" d2T "BIZ" &t "47" forar SI1dT &1 39 i wtwT § "FOG" ! fohd ek forar smgem?

Options:
1) 37

2)38
3)39

4) 40
Correct Answer: 38
Candidate Answer: 38

QID : 126 - What is the value of 76 + 77 + 78 ........ 1007

76+77+78 ... 100 T |1 T §?

Options:
1) 2100

2) 2120
3) 2200

4) 2380
Correct Answer: 2200
Candidate Answer: 2200

QID : 127 - If 2347X is completely divisible by 4, then what is the value of X?

g 2347X, 4 T goid: RenfSia 8, X o1 79 T 82
Options:

Correct Answer: 2 or 6
2 YT 6

Candidate Answer: 2 or 6
2 YA 6

QID : 128 - Which of the following number is divisible by 6?

Preferf@a & & o o g 6 & qufa: Rt 2

Options:
1) 354324

2) 533212
3) 93242

4) 85232
Correct Answer: 354324
Candidate Answer: 354324
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QID:129-
Which of the following statement is true?
. 2¥ is even.
Il. 3 is odd.
Taiag # @ FlF O FIT T &2
. 2% @ B
Il. 3¢ faws &

Options:

1) Only |

had |

2) Only Il

Sad |l

3) Both land Il

| FoT 1l &

4) Neither I nor Il

TJariag

Correct Answer: Both I and Il

| a2 11 &t

Candidate Answer: Both | and Il

| a2 11 &t

QID : 130 - What is the value of 25 + 5 -2 x 4 + 10?

25+ 5-2x4+ 10 1 44 1 8?
Options:

15

2)7

3)8

4)17

Correct Answer: 7

Candidate Answer: 7

QID : 131 - If 439 x 441 x 443 is divided by 6, then what will be the remainder?

afe 439 x 441 x 443 @t 6 @ fauwfSa fopar S, @t Qe 1 gim?
Options:

Correct Answer: 5
Candidate Answer: 3

QID : 132 - Two pipes A and B can alone fill a tank in 60 minutes and 75 minutes respectively. Pipe C can alone empty the same tank in 100 minutes. If all three pipes
are opened together, then in how many minutes will the tank be filled?

a1 UTST A JUT B Teh deht bl shasT: 60 el qur 75 el & oR Tend &1 ursy C It &bt bt 3rchat 100 fAFTel & @reft a Tepat g1 afe fil ursul &t wep ary @it far &g, at dhy
foram et & aR SITet?

Options:

1) 100

2) 50

3)75

4) 80

Correct Answer: 50

Candidate Answer: 50

QID : 133 - A pipe can fill a tank in 140 hours. Due to the leak in its bottom, the tank is filled in 160 hours. If the tank is full, then that leak can empty the tank in how
many hours?

ek UTEY Uek ¢eht et 140 B2 H 9R TchdT &1 EhT & det & B¢ g o ehIR0T, Eeht et ¥R § 160 ° a7 § 1 afe Eeht Ot o123 g, ot a8 B &t ot fohae € & @t &g TehT 872

Options:

1) 1000

2) 1500

3)1120

4) 1200

Correct Answer: 1120

Candidate Answer: 1120
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QID : 134 - What is the area (in cm2) of an equilateral triangle whose side is 14 cm?

Teh ToaTg e faehY ofetr 14 3.4, 8, o1 athet (3.71.2 &) @ 2

Options:
1) 28v3

2) 50v3
3) 49v3

4) 51v3
Correct Answer: 49v3
Candidate Answer: 49v3

QID : 135 - A merchant purchases a watch for Rs 600 and fixes its marked price in such a way that after allowing a discount of 20%, he earns a profit of 10%. What is
the marked price (in Rs) of the watch?

Teh TR 600 ¥ H Toh IS @RIGdT § dUT 3Heh Sifchd Hed 39 ¥ Sifchd o & fh 20% 61 g2 33 & sy +f I/ 10% a1 a1 UTed gl 81 5 ot Sifehd Hear (3 ) o 82

Options:
1) 850

2)725
3) 750

4) 825
Correct Answer: 825
Candidate Answer: 825

QID : 136 - The cost price of an article is 70% of the marked price. What is the gain percentage after allowing a discount of 16% on the marked price?

TRt aq o ohd T ITh SHfhd Hed o1 70% &1 3ifhd Hed IR 16% &Y ge & & ugra o ufard &= 8?2

Options:
1)15

2)30
3)10

4) 20
Correct Answer: 20
Candidate Answer: 20

QID : 137 - The ratio of two positive numbers is 3 : 4. Their product is 588. What is the smallest number?

S T AT AT SIIUT 3 @ 4 &1 e UHhA 588 &1 Bie! H&dT 1 87?

Options:
1) 21

2) 28
3)14

4) 35
Correct Answer: 21
Candidate Answer: 21

QID : 138 - B starts a business by investing Rs 60000. After 5 months, D joins business by investing Rs 75000. At the end of the year, in what ratio will they share the
profit?

B, 60000 ¥ & Guit A1 ehch Yeh SATUR $TRY T &1 5 |18 & UHTd D, 75000 T a1 o 39 SaTaR & MiAe g1 Si1ar g1 a o ofd & ag fohd Srurd & 1] dfiear?

Options:
1)169:144

2)48:35
3)14: 11

4)12:15
Correct Answer: 48 : 35
Candidate Answer: 48 : 35

QID : 139 - The average of N numbers is 16. If a number 10 is removed, then average becomes 17. What is the value of N?

N TReratt ot 3 16 &1 afS Ueh T 10 ol geran ST, &t 3fed 17 g Sar g1 N &1 91 a4 g7
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Options:
1)6

2)7
3)8

4)9
Correct Answer: 7
Candidate Answer: 7

QID : 140 - By Selling 5 articles for 1 rupee, a man losses 20%. If he sells 3 articles per rupee, then what will be the profit percentage?

1398 # 5 a¥g3H ol = WR Uak &fxh i 20% 1 1 8T &1 IS I8 Qo w08 & 3 aeqy 919, It a1 uferd & gim?

Options:

1) 75

2) 66.67

3) 30

4) 33.33

Correct Answer: 33.33

Candidate Answer: 33.33

QID : 141 - By selling an article for Rs 510 there is a loss of 15%. What is the cost price (in Rs) of the article?

T ag i 510 T H S W 15% & g1 FieiT §1 I &1 36 o4 (3 7) T E?
Options:

1) 600

2) 580

3) 400

4) 450
Correct Answer: 600
Candidate Answer: 600

QID : 142 - A number is multiplied by 2/9 instead of 3/7. New value is what percent of expected value?

e Gl 3/7 & T 2/9 ¥ TN R & S1ra 81 ar w1 smafeya 7 & fona ufaera 82

Options:
1) 62.66
2) 51.85
3) 57.21
4) 68.76

Correct Answer: 51.85
Candidate Answer: 51.85

QID : 143 - Total cost of 60 tables is Rs 30000. If cost of each table increases by 20% and number of tables decrease by 20%, then what will be the total cost (in Rs) of
tables?
60 ATl T et e 30000 % 81 T TR 79T T G 20% T T e S 1 Al el T=am 20% @ & 8t 11, <t Jll ol et 74 (3 ) T ghm?

Options:
1) 28800
2) 27500
3) 30000
4) 25500

Correct Answer: 28800
Candidate Answer: 28800

QID : 144 - The speed of a boat in still water is 10 km/hr. It covers a distance of 50 km upstream in 6 hours. What is the speed (in km/hr) of the stream?

<1id STt & e A1a Y a1 10 b= /61 81 a8 o1 & ufdgget 50 foh . &t gt 6 6 & T ot &1 Ry o if (k. #f./efer ) aram 82

Options:
1)1.2

2)1.5
3)1.6

4)2
Correct Answer: 1.6
Candidate Answer: 1.6

QID : 145 - A 600 metres long train crosses a bridge 600 metres long in 60 seconds. What is speed (in km/hr) of the train?

ek 600 Hiex Tt ITTE Yeh 600 Hiex T qol oY UR e & 60 VU oicll & | It &t aifay (foh. = /ier ) arm &2
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2)72

3)75

4) 65

Correct Answer: 72

Candidate Answer: 72

QID : 146 - What is the compound interest (in Rs) on a sum of Rs 12000 for 2 years at the rate of 10% per annum compounded annually?

12000 & HAE TR 10% i afen & IR aTfien e & 2 auT &l Tehgfe TSt (3 H) F18?

Options:
1) 2520

2) 2400
3) 2620

4) 2340
Correct Answer: 2520
Candidate Answer: 2520

QID : 147 -

The table given below shows the sales (in lacs) of 2
companies Audi and BMW from year 2000 to 2005.

e & w2 arfoer # a¥ 2000 ¥ 2005 T 2
Huferal e g fruAseey, & fEhHr @mEr #) @

ZATAT AT B
Sales (in lacs) / fasfr (amr #)
Year/a§
Audi/3iE | BMW / fros.see,
2000 20 22
2001 25 24
2002 15 20
2003 25 28
2004 14 20
2005 20 15

In how many years was the sale of Audi more than that of BMW?

forat ot & it & farsht sft.u. sy, <l farht @ srferep oft?

Options:
1)2

2)5
3)1

4)3
Correct Answer: 2
Candidate Answer: 2
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QID : 148 -

The table given below shows the sales (in lacs) of 2
companies Audi and BMW from year 2000 to 2005.

@ & o afer # a§ 2000 ¥ 2005 IF 2
Huferal e g fruA.seey, & fEh @mEr #) @

g TR ¥
Sales (in lacs) / fashr (amat )
Year/a¥
Audi / 3 BMW / &l.ua.5ec,
2000 20 22
2001 25 24
2002 15 20
2003 25 28
2004 14 20
2005 20 15

What was the percentage change in the sale of Audi from year 2000 to 2004?

Ty 2000 ¥ 2004 T, 3itet 6 fasht & ufazra gRad= wm a1?

Options:
1) 30

2) 80
3) 50

4) 60
Correct Answer: 30
Candidate Answer: 30

QID : 149 -

The table given below shows the sales (in lacs) of 2
companies Audi and BMW from year 2000 to 2005.

@ & o afeer & a§ 2000 ¥ 2005 IF 2
Fuleral S g frAseey, Hr fohr @@ #) @

gt aram &)
Sales (in lacs) / fasfr (amr )
Year/a¥
Audi / 3itE BMW / dh.ua1.5e0,
2000 20 22
2001 25 24
2002 15 20
2003 25 28
2004 14 20
2005 20 15

What was the average sale (in lacs) of BMW from 2001 to 2005?
T 2001 § 2005 deh, ft.qH.Sscy, HY sitaa fchr (et 7) i oft?

Download More Papers From GovtJobsAlert.In



optons: Download More Papers From GovtJobsAlert.In
1) 22
2)23.2
3)27.2

4)21.4
Correct Answer: 21.4
Candidate Answer: 21.4

QID: 150 -

The table given below shows the sales (in lacs) of 2
companies Audi and BMW from year 2000 to 2005.

@ & wE afeer # a¥ 2000 ¥ 2005 TFF 2
Fufaat e g oAseey, Hr R (@t 7) @

ZATAT AT B
Sales (in lacs) / f&fr (et )
Year/a§
Audi / 3 BMW / fi.ua1. 53,
2000 20 22
2001 25 24
2002 15 20
2003 25 28
2004 14 20
2005 20 15

The sale of BMW in 2004 is what percent of the sale of Audiin 2000?

T 2004  t.qA.geg, Fi facht a 2000 F 3Tt A farsht a1 fora ufazra &2

Options:
1) 120

2)100
3)135

4) 300
Correct Answer: 100
Candidate Answer: 100

QID : 151 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate option. If
a sentence is free from error, select 'No Error'.

Although he get to (1)/ visit a lot of places and (2)/ meet interesting people. (3)/ No error (4)
Options:

1)1

2)2

3)3

4) 4
Correct Answer: 1
Candidate Answer: 1

QID : 152 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate option. If
a sentence is free from error, select 'No Error'.

What if you could get all the (1)/ benefits of readings without (2)/ giving up your other interests (3)/ No error (4)
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Options:
11

2)2
3)3

4)4
Correct Answer: 2
Candidate Answer: 2

QID : 153 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and indicate it
by selecting the appropriate option.

The moment is lost is lost forever.

Options:

1) where

2) which

3) whom

4) who

Correct Answer: which
Candidate Answer: which

QID : 154 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and indicate it
by selecting the appropriate option.

Rajesh called his cousin a
Options:
1) layer

2) liar

3) mair

4) care

Correct Answer: liar
Candidate Answer: liar

QID : 155 - In the following question, out of the given four alternatives, select the one which best expresses the meaning of the given word.

Jettison
Options:
1) Space bound

2) Splessness
3) Conjure

4) Hurl
Correct Answer: Hurl
Candidate Answer: Splessness

QID : 156 - In the following question, out of the given four alternatives, select the one which best expresses the meaning of the given word.

Laconic
Options:
1) Verbose

2) Wordy

3) Crisp

4) Health

Correct Answer: Crisp
Candidate Answer: Verbose

QID : 157 - In the following question, out of the given four alternatives, select the one which best expresses the meaning of the given word.

Morbid
Options:
1) Happy

2) Outgoing
3) Ranger

4) Depressed
Correct Answer: Depressed
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Candidate Answer: Depressed

QID : 158 - In the following question, out of the given four alternatives, select the one which is opposite in meaning of the given word.

Enrich
Options:
1) Adorn

2) Better

3) Reduce

4) Build

Correct Answer: Reduce
Candidate Answer: Reduce

QID : 159 - In the following question, out of the given four alternatives, select the one which is opposite in meaning of the given word.

Inert
Options:
1) Active

2) Asleep
3) Dull

4) Idle

Correct Answer: Active

Candidate Answer: Active

QID : 160 - In the following question, out of the given four alternatives, select the one which is opposite in meaning of the given word.
Secure

Options:

1) Safe

2) Endangered

3) Immune

4) Protected

Correct Answer: Endangered

Candidate Answer: Immune

QID : 161 - In the following question, out of the four given alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.
Be on the square

Options:

1) To be away from home

2) To make someone fool

3) To squander money

4) To act and speak honestly
Correct Answer: To act and speak honestly
Candidate Answer: To act and speak honestly

QID : 162 - In the following question, out of the four given alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.
Let the cat out of the bag

Options:

1) Reveal a secret carelessly or by mistake

2) Talking ignorantly

3) To destroy at the end

4) To make use of time
Correct Answer: Reveal a secret carelessly or by mistake
Candidate Answer: Reveal a secret carelessly or by mistake

QID : 163 - Improve the bracketed part of the sentence.

They have been hesitant to form (ourselves) as a breakaway group for fear of being disqualified for defection.
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Options:
1) Themself

2) Themselves
3) Itselves

4) No improvement
Correct Answer: Themselves
Candidate Answer: Themselves

QID : 164 - Improve the bracketed part of the sentence.

Reconciliation is (closed) to impossible now, although he has not been expelled from the group.
Options:

1) Imposed

2) Closing

3) Close

4) No improvement

Correct Answer: Close
Candidate Answer: Imposed

QID : 165 - In the following question, out of the four given alternatives, select the alternative which is the best substitute of the phrase.

Speed of an object in one direction
Options:
1) Ferocity

2) Capacity
3) Velocity

4) Felicity
Correct Answer: Velocity
Candidate Answer: Velocity

QID : 166 - In the following question, out of the four given alternatives, select the alternative which is the best substitute of the phrase.

Full of criticism and mockery
Options:
1) Admire

2) Affaire
3) Satire

4) Allure
Correct Answer: Satire
Candidate Answer: Satire

QID : 167 - In the following question, a word has been written in four different ways out of which only one is correctly spelt. Select the correctly spelt word.
Options:

1) Familear

2) Familiar

3) Familar

4) Famelar

Correct Answer: Familiar
Candidate Answer: Familiar

QID : 168 - In the following question, a word has been written in four different ways out of which only one is correctly spelt. Select the correctly spelt word.
Options:
1) Envelope

2) Envelop
3) Envelap

4) Enwelope
Correct Answer: Envelope
Candidate Answer: Envelope

QID : 169 - Rearrange the parts of the sentence in correct order.
We had been told to
P: we can put our hands and feet

Q: and identify places where
R: first observe the rock carefully
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1PQR

2) RQP

3) QPR

4) RPQ

Correct Answer: RQP

Candidate Answer: RQP

QID : 170 - Rearrange the parts of the sentence in correct order.

| tried to explain

P: them could understand it
Q: in Hindi but

R: but neither of

Options:

1) PQR

2) QRP
3) QPR

4) RPQ
Correct Answer: QRP
Candidate Answer: RPQ

QID : 171 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the four
alternatives.

Life in urban India is marked by wide-ranging disparity. There are residents who have means of enjoyment but people are so poor that they have to live in
slums. Economic inequality, pollution and garbage are the of urban existence. People also have to face lack of adequate water supply. Yet people want to live
in cities because they get facilities for good education, healthcare, transport and so many modes of comforts and entertainment. There are also opportunities
for employment in cities villages where very few people are gainfully employed.

residents who have means
Options:
1) unlimited

2) fair
3) pragmatic

4) circular
Correct Answer: unlimited
Candidate Answer: circular

QID : 172 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the four
alternatives.

Life in urban India is marked by wide-ranging disparity. There are residents who have means of enjoyment but people are so poor that they have to live in
slums. Economic inequality, pollution and garbage are the of urban existence. People also have to face lack of adequate water supply. Yet people want to live
in cities because they get facilities for good education, healthcare, transport and so many modes of comforts and entertainment. There are also opportunities
for employment in cities villages where very few people are gainfully employed.

but
Options:
1) long

people are so poor

2) some
3) least

4) good
Correct Answer: some
Candidate Answer: some

QID : 173 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the four
alternatives.

Life in urban India is marked by wide-ranging disparity. There are residents who have means of enjoyment but people are so poor that they have to live in
slums. Economic inequality, pollution and garbage are the ______ of urban existence. People also have to face lack of adequate water supply. Yet people want to live
in cities because they get facilities for good education, healthcare, transport and so many modes of comforts and entertainment. There are also opportunities
for employment in cities villages where very few people are gainfully employed.

garbage are the of urban
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Options:

1) boon

2) blessing
3) bane

4) resource
Correct Answer: bane
Candidate Answer: bane

QID : 174 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the four
alternatives.

Life in urban India is marked by wide-ranging disparity. There are residents who have means of enjoyment but people are so poor that they have to live in
slums. Economic inequality, pollution and garbage are the of urban existence. People also have to face lack of adequate water supply. Yet people want to live
in cities because they get facilities for good education, healthcare, transport and so many modes of comforts and entertainment. There are also opportunities
for employment in cities villages where very few people are gainfully employed.

There are also
Options:
1) bad

opportunities

2) worst
3) least

4) good
Correct Answer: good
Candidate Answer: good

QID : 175 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the four
alternatives.

Life in urban India is marked by wide-ranging disparity. There are residents who have means of enjoyment but people are so poor that they have to live in
slums. Economic inequality, pollution and garbage are the of urban existence. People also have to face lack of adequate water supply. Yet people want to live
in cities because they get facilities for good education, healthcare, transport and so many modes of comforts and entertainment. There are also opportunities
for employment in cities villages where very few people are gainfully employed.

in cities villages
Options:
1) unlike

2) similar
3) alike

4) example
Correct Answer: unlike
Candidate Answer: example

QID : 176 - The economic activities are divided into three sectors — primary, secondary, tertiary on the basis of

anfefes nfafafaay & SR WR UTAAeh, A1edfieh duT qefiaes 11 &3 8 fafSa forar sar 81

Options:
1) Employment conditions
EIRRITE

2) the nature of economic activity

3) Ownership of enterprises
HT @i
4) Number of workers employed in the enterprise

IeM B Rk Hffeh! S e

Correct Answer: the nature of economic activity

afefer mifafafer <t wrepfar

Candidate Answer: Number of workers employed in the enterprise
e # IR SHfHehl e e

QID : 177 - Which among the following result in connecting the market or integration of markets in different countries?

frafafea & & o fafera 3T & TRl & Tatsr srerar Gehtenzor &1 aRoms 3T 8?2
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1)pMass production

S T R IR

2) Urban trade

& TR

3) Foreign trade

fRsft amaR

4) Tourism

Correct Answer: Foreign trade
fadeft R

Candidate Answer: Foreign trade
fasft amur

QID : 178 - Who among the following is head of government?

frafafed 3 & o wReR & ugE 8?

Options:
1) President of India
YR & IgUfa

2) Prime Minister of India
R & T

3) Finance Minister of India
Rd o o 73

4) Foreign Secretary

faRer afeg

Correct Answer: Prime Minister of India
IRA & TeTH

Candidate Answer: Prime Minister of India
IR & MY

QID : 179 - Fundamental rights in indian constitution has been taken from which country's constitution?

IRt dfdem & wifore sifder fhg A & d@fdam @ forg g &2
Options:
1) US Constitution
SRR e
2) Irish constitution
sraRer @fdem
3) Australian constitution
4 e

4) British constitution

fofesr wfaam

Correct Answer: US Constitution
T

Candidate Answer: US Constitution
Tfgemr

QID : 180 - At which place did Gautam Buddha passed away?

for T R ad 3 it g g8 of?

Options:
1) Bodh Gaya
ey

2) Kushinagar

TR
3) Lumbini

4) Sarnath
AT

Correct Answer: Kushinagar

TR
Candidate Answer: Kushinagar

TR

QID : 181 - The demand for separate electorate for muslims was conceded in which year?

fore af & gfert & forg sremT fAaffRent &t w1 et | foram mar oam?

Options:
1) 1906

2) 1909
3)1919

4)1922
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Correct Answer: 1909
Candidate Answer: 1909

QID : 182 - What are the small pieces of rocks which move around the sun is called?

T o IRY 3R TR T ATt TR & BIR-BIE The| ohl T e &7

Options:
1) Asteroids

g U
2) Meteoroids
IS

3) Stars
ar

4) Satellites
D

Correct Answer: Meteoroids

Candidate Answer: Asteroids

ga e

QID : 183 - What is the shape of the Indian Ocean?

=< HETITR &1 SRR T 872

Options:

1) Almost Circular
T JARR

2) S' shaped

S' 3R

3) Almost Triangular

NUEHRERSIGIN
4) None of these

7 & &ig T

Correct Answer: None of these

Candidate Answer: S' shaped
S' 3R
QID : 184 - Who is called the 'Father of Zoology'?

Sfrafasm & foar 758 wer STar 82

Options:
1) Huxley
gt

2) Aristotle
IRTY,

3) Lamarck

4) Cuvier

Correct Answer: Aristotle
SRE],
Candidate Answer: Aristotle

SIRE

QID : 185 - Curdling of milk in the stomach is due to the action of .

ST § G T AT &1 ufehar & wRUT BT &1

Options:
1) Myosin
A

2) Rennin
J=

3) HCL
Lok ifec
4) Pepsin
Sl

Correct Answer: Rennin

Candidate Answer: Rennin

QID : 186 - Amount of O, normally carried by 100 ml of pure blood, is .

100 .. 315 Th GRT I8 Ry ST aret O <l AR AR 1
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Options:
1) 50 ml
50 faefh.
2) 2ml
2 e
3) 20 ml
20 et
4) 5ml
5 faa.

Correct Answer: 20 ml
20 fA.&f.

Candidate Answer: 20 ml

20 fAefh.
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QID : 187 - Newton used the phrase 'quantity of motion’ for .

e 7 T T [T BT gIT & forg foram am

Options:
1) momentum

2) force
ES

3) speed
T

4) mass
Fenic

Correct Answer: momentum

Candidate Answer: momentum

QID : 188 - When salt is properly mixed with ice, the melting point of ice .
€ A oht ath o 1Y Sk & AT v e &, at ek o Teriw [

Options:

1) decreases
& g S
2) increases

3) remains the same
FA 8
4) becomes infinite
3 gt ST g
Correct Answer: decreases
FA gl

Candidate Answer: increases

QID : 189 - Which among the following is NOT an example of extension used in computer?

frafafea & @ o a1 sreger & Iuai R ST aTel TaRiee T 33T -Igt 82

Options:

1) doc

2) xIs

3) fat32

4) htm

Correct Answer: fat32
Candidate Answer: fat32

QID : 190 - Metals are

gy gt 81
Options:

1) Malleable and ductile
sreTaaef $fik a1

2) Non-malleable and ductile

R smaraasf ofk a=r
3) Brittle and ductile
YRR T

4) Non-malleable and non-ductile

R smaTdasf 3R 3rd=

Correct Answer: Malleable and ductile

smaraae ofR =1

Candidate Answer: Malleable and ductile

smaraae ofR =1
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QID : 191 - White phosphorus is storedin ______

qthe BRGRT _____ H Ui fopar ST 8|

Options:
1) ether
R

2) water

3) mercury
uRT

4) petrol
Correct Answer: water

Candidate Answer: water

QID : 192 - The herbivores are also called

TeRTEIRAT Y ______ off gt ST 3
Options:

1) Primary consumers

HTfHe IuHIH

2) Secondary consumers
Arenfie Iu i

3) Tertiary consumers

JelTaeR IuhTe

4) None of these

Correct Answer: Primary consumers

e ITeihT

Candidate Answer: Primary consumers

e ITeihT

QID : 193 - Vittiya Saksharata Abhiyan was launched to make people aware about .

it wnerar sifear ot @ &t & TR § SR Shent & folg I fomam mar
Options:

1) Mutual Funds

e el

2) Cashless economic system

e TR FoTTedt

3) Financial inclusion

[ERIREEICHE]

4) investment
[EEEY

Correct Answer: Cashless economic system
FHerT

Candidate Answer: Financial inclusion

fo<ia guEmde=

QID : 194 - James watt is famous for the invention of

S A & anfashR & forg ulig &1

Options:

1) Diesel Engine

EESESE

2) Steam Engine

Y T 3574

3) Electric Motor
Atex

4) Thermometer

Correct Answer: Steam Engine
Y T 3517

Candidate Answer: Steam Engine
T T ST

QID : 195 - Who was the winner of first ever formula 1 Grand Prix held in India?

WRA 7 AT Form Biger 1 7S e & fstar s &2
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Options:
1) Sebastian Vettel
Jafees

2) Nico Rosberg
frept Agart
3) Lewis Hamilton

4) Michael Schumacher
HIgehel AT
Correct Answer: Sebastian Vettel

Candidate Answer: Nico Rosberg

[REARIEE

QID : 196 - Garba is a famous dance form of which state?

TRaT fohd Y T Ui, T ®°U 87
Options:

1) Punjab

i)

2) Guijrat

NS NG
3) Madhya Pradesh
e T

4) West Bengal

g S

Correct Answer: Gujrat
NENG)

Candidate Answer: Gujrat

NENG)

QID : 197 - Who among the following has won Dhyan Chand Award, 2017 for Hockey?

frfafed & & o g & fag erde RehR, 2017 sfarg?

Options:

1) P. A. Raphel
ot Q. Itk

2) Mariyappan
ARTwH

3) Sumarai Tete

4) Cheteswar Pujara
AR YEIRT

Correct Answer: Sumarai Tete

Candidate Answer: Sumarai Tete

QID : 198 - Who is the author of the book named "Dynasties of India and Beyond"?

Options:

1) Inder Malhotra

EC

2) H. P. Nanda

g, o, der

3) Amrita Pritam
UicE

ST
4) Anita Desai
e ard

Correct Answer: Inder Malhotra
EE S

Candidate Answer: [ NOT ANSWERED ]

QID : 199 - APTTA is a transit trade agreement between Afghanistanand ____.
T s 3k & T o URITHA ATOR GEET 81
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Options:
1) Pakistan
TR

2) Iran
RE

3) Kazakhstan
EaUIECESIE

4) Vietnam

[GecEic)

Correct Answer: Pakistan

Candidate Answer: [ NOT ANSWERED ]

QID : 200 - India has signed an agreement to join the global terror database maintained by the Terrorist Screening Centre of which country?

R 3 o 221 & ST SR S T SRR AR oMderaTe 2o & afffrd 8 3 oIy ge e R eweR R 27

Options:
1) Pakistan
uTfRET

2) Britain
foe

3) Russia

&g

4) United States of America

TYh IS

Correct Answer: United States of America
TY<h ST ST

Candidate Answer: [ NOT ANSWERED |
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